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4 marks questions

4)3, 15, 27, 39 ....

4 marks questions
1)"&30%T TR WRTIN

4)10 =
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ZoTNT
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l(q

WRTING TR BHT, B, F0m0T0 &2 WO WTINT TTIT LOWBRET SUTFTD

Q0T TR

2 marks questions from thales thoerem
1)28,59..LM || CB =22, LN || CD, AM/AB= AN/ AD <000 @03

: 2)xwg,59., DE || AC =22, DF || AE. BF/FE= BE /EC %0oT

B F E l..!

3)::3,=9.., DE || OQ %22, DF || OR. EF || QR <o 0%

P

D

O
QO R

)
mﬁﬁ:seﬁ ones, <t BC || QR womoSreeda,

P

Q R

55,00 AB I PQ =% AC || PR. &mmc8 A, B 53.C 7% $352N0P, 0Q 3%

b@i)

OR

5)ABCD ¢330 %ot 39,8t RE09.,AB || DC 3023, 309Fmsh 03,80 O Womdls ., FelAE.E.

=SA0O/BO =CO/ DO wowms 3ecda,
6)ABCD 323357 xm9.,A0/BO= CO/ DO ©rivmod gearnish ©T5,0 O Womodmd.,
3e032.33. =TT ABCD 0300 20Ty 390 woldd &9



2 marks questions from similarity and similar triangles

7) 29,0%,;39,, 3earnent AC 23022, BDNsh £05,0 O WomR3., 03,33,

QOB LW BTRTRTS AZFTs N yuTodeendy OA /OC—OB/ ODwow EIDINEY
8)xgxd., QR/QS=QT/PR and <1=<2. =38 APQS ~ A TQR «o% 704

/

T
P

i
Q 5 R

9) <P = <RTS «ndozice S @032, Trgo APQR & PR 3032, QR wWoxony 250008 Romonehstd A

RPQ ~ ARTS wom: m5
10) 33,39 ABE = ACD, =3 ADE ~ ABC <ot b,

A

B &
11) AT T 3xABC 029.,AB = AC,E 030 CB 0, B,0,4T Se8o 350098
20030 Woty AD L BC =022, EF L AC =S AABD ~ AECF w0t 502

A
F
E B D C
12)000 TRORT SRNAY $A,C0FMD ATDTOET, SRYNTS TTFATD wotdd TR
Problems from pythagoras theorem
1)ABC =0 &e &30 - C 03 ©owdneszend ABA2 = 2ACA2 20T AR

2)AABC® 0355 Tz00,050T0 @Zﬁo%?ﬁwuw AC = BC, 2AB*2 = 2AC"2 =58 AABC 030 ©0030es 3,830% 0t
3)wom ATWIT RPIRTY,., LOTH WITINT INFT BORTTRY,, BT

()



TOTBROTI 2,00 0D 0R,, e Hao0 0T TodA,

adt@a zéoa;jdﬁ@daw Bea303, T BTN WwoelNLd
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&

2x+2Y =10

x+3y =6
2x-3y =12
A o J g NY-on Do FATADIM

TeLI08, T BUCTTLANT WRelI0NT0,, Wi MomTT

QDPOINYOT WA

1).x-3y-3=0 and3x-9y-2=0

2)2x +y =5 and 3x+2y =8

3)wotd RI_ 000 $03HeT 1830, FYTRN €m0 1/3 SMog,T w03, &

W TO0L €338, 8T, HeOATIIN LTI 1/4 &M03.3. TomTsT & T ToH0RNTY, FoTEROW0,

30303 QPOI
1)x+y=14and x —y =4 Tesio3 3 FeBTONY WRelndmo, STe3 Lot WRA
2)eTTs FesBMnY 32253 26 W82, Woldd B083;0300 WHWR_ 0TT 0eTT8%, 5.

BRYNTT, FoWEOWO,

3) 0@E> TOTRUT FReanvd., TR, 3Rmwm) Be, 328808 18 &y BRFmNG.
STYNTR, FOTEEWRCWO

BRFRB AR

1)BecmT 8 BLOCFTANE WreRMTTo, TEFRB ATTROT VR

3x-5y=20 and 6x-10y=40

2)3eamP, 8 FAFTNY ERtRNTIo, BEFRIT DTN VRA

x-3y-7=0 and 3x-3y-15=0

(i) oo WS T80 @ozd; 1830, Fed), Femlion 18, 9T FogeLATIT,
1 AM0Z, 3. & T 000 338, 130, HeOATT €T30 1/2 Lotnog. B,

(i) 0T0 BHFAY 20T SRV TOPFI,, FeeBoRT WORAT TR0 Tedd
—_—

BN3Y,. BIY, VRN WET IR0 TWORED,, ARCTINT WO0NA,,T WOTY T3y,
BNoZ, 3. —gmdd TR0 mfoJ HRETINT BNT TORA _,RW2,?
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0

3x+4y—-20=0

1)x — 2y

2)2x+3y—-9=0

=0

4x + 6y — 18

=0

3)x+2y—-4

2x+4y—-12=0

33,1
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4)21 cm ;238000 %Womd 3@@8& WOTN Boxy B, 2.3, 60

BRCTTT 0LITINTE@IZ,TI. FOROT YVOLIITT &)2T9508T S00TITT SR, CEFIRY,, FOTIELROWD.
5)21 cm %0008 womd 3,28.89., Lotk 303y 3,8.5¢0m,59., 60
BRETTID0LVTWIDTEIZ, T, TIVRT W3 00T YVOEIDT 5,2, 800TT DA,LEIFTIY, FOTIROW0,
6)eg,T9.,ABCD ¢30 14 cm WwEon)¥, 598N w032, APD Tonwe

APC 1¥ ¢5FsS, 2,neE0, PotinR it (Ionc A, e0rms, BoEEE000,

A B
T~ i
P
C
7)2g3,59.., ABCD @733 ez N3, 14 cm. T2 T8, NIT 700 3, 32.NYD00ED,,

3

2Tz A,dFF03 A,B,C, w022,
D 3c0%)50oNT0 S99, 35,8,NYR0, c0S0T.FR0NNRRPAT (TONT SA,.CEFTTI, FoTEE

~
8) ©¥g,TY.,, OACD 030 O 3eow,mmo, TReTIT w032, 3.5 cm &80 7,8,
WB2o5rEment. OD = 2 cm S0 ©,8, B335 QA.L0FHRI, FoTEROW0
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4)3cm $%;T WOTH 3,2, 730, WD, ATT WO W FHIY,, WOTR T 3,02 ST 3o
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ZL
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L
(@)
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2o
I
(o8
&L
(@)

Beo)00T )& Vo) 7em TRTTEO,,ToT0E p 33022, ( S0CW WIS
WOTINYOT T,3,85 B, 3EBNTT, 0¥0,

5)4cm 082, 6cm LW NYTIT wTTY WBBCOLE0D W BN, 6ecm S

l

S

£

0eDT WOTI WOTINQOT 4em &850 T334 B, TR, TR 303, 8T

YOTI, T30, W0, 3¢300T0, T Z0N0T Todsweel
2 marks questions

1)6ecm 3T Wotsd 33,3,880, w00 T Feog,ot 10cm TRTT Lol

&
(0]
a

SQR0T T8, 85 Lot VRS A,BFINYSo, T8 w0, BNne VT NS,

2)5cm %0 3,3.8,, B,3FENY SRLT BReS 60 900308 woldd W A ,BFENYEI, o0,
3)8cm YUT, LTI 20T TeeoRloTIRo, oW T8, RTT, 312 ©RITEBTI.., YRNA, LTTRR

PRNNTR0, PCW0

QTeFTo08 Besooness
conceptl

1)(1, 5), (2, 3) 082, (-2, -11) 00w WeTINYS FTTTETDNZTHE womd AEIFOWA),

2)(5, -2), (6, 4) 7022, (7, -2) WOt TIRQ LT LLPORT 30N WeTINTONTI0Re wotd BO&eD,
3)(2, -5) ==3, (-2, 9) 0%

00T ARPE TRITD.,05F X - BFEH 30008 WOTmE, FoEIRoW0

4)P (2, -3) 532 Q (10, y) LTy Sm0T S0 10 SRINERTT, y 0B BENTEs,, S0mRen0
concept2

5)(4, -1) 30T, (-2, -3) WeTNTRo, Fe0FT TeROTT ), 172W s WOTINY ATEFrT20BNTT,

FOTI2ROWD0.



6)(-3, 10) 022, (6, -8) Womon¥Eo, 0T Teatwslow@sy (-1, 6) 00T 039 ©RTETL.,
NTINTO,T3,T5 0T BoBZROW0,

7)(1,2), (4, ), (x, 6) 3522, (3, 5) W

(CL
EO
O
138
(@)
£l
3
O
Gl
a
&
Gl
(@)
<
(@)
n
&
\\OIL

T ©808e0 T oNNRTET, X
T, y NYTL, 50EIERON0D

8)AB T2,T:2NTIT T,2.3 BeoT) (2, -3) 3022, B 030 (1, 4) STT, AWOTI0E

concept3

9)(2, 3), (-1, 0), (2, -4) 3_CNNRYTIT LLIWED LA, LEFNYT, TOTEROAWD

10)2%0T30 38,3, 203 ©RT)E0 30NN (3, 0), (4, 5), (-1, 4) 022, (-2,-1) ST LTT DR,LFDTI,
FOTIE0W0

11)(7, -2), (5, 1), (3, k)Romon¥s Io0vCeatongmeN 8 k 0 L3080, 50t&E 020

R, ROBNEd

Euclid's algorithm
1)030528.,T8°F WRMOTIT0E BEIT)TIe00 WA 135 2083, 225 T 30F% TOWs &l .

—

2)030R8., TS POMOT0 $EITHI0N WA 1965082.382203 w070 50T &R0

3)0028., T LRTPEITH &RITTE0N W 86733032,225T mHmwe 0@y &ROW0
Factorization

4B STSIES LS00 8,9,73080, 25 1¥ moE I,

l (@)
o
@
[¢:8
(@]
&l
(@)
E@
&
&
o

5)2653032.91 1% T 0T, OFRY FOREY &ROWO I
MO, QCITITY,, T B¢

6)(306, 657)C woaow = 9 BTV WNY ©ARY FoEs Lio%k0,
Proving irrationality

7)5 —\32.003 @ymnew, 5083 0y 3wty



WIRDITTIRe, NS0

1)x*2 + 7x + 10

0 BRTBNTTI, TR0

2)xM2 +7x +10

L SO¥ Spclk

(9]

5, IRRBNY 56

vict

SRT3N

n
A

QoW0 TN

&

~
v

@

~
o

SeSneI, 8

3)XA2 - 3 o v

09BN T

Estestat

22,

3

TN MOV, NY

1y

vy

3rie

_)\4‘)
oA
\/‘V N

5) 3, -1 =532, - 1/3 %3 p(x) = 3x*3 - 5x*2 - 11x - 3 w02

55 3, -1 302, - V5 =TT

3XA3 + xM2 +2x + 530, 1 + 2x + X2 QoT N

7) WTOTTEReS,
-

Bciateniwiol

S

o)
D)

03

Q0T

2x4 - 3x3 - 3x2 + 6x - 2

—,
:’@

7 =

Quadratic equations

1)Brg00m 2X N2 + X =528 =0 =z

]

J0BTEITT TORONTRY, FoTZL0W0

=~
3

2)532300m3X 2 —5x+2=0 =

)

0BT TORONTRY, FoT&L0W0

=~
5

3)Eazgnom X2 +4x+5=0 3

NPT, TOWIEROW0O

53,005 2XA2 — 22 X + 1

4)35

rgnem 2XM 2 -7x+3=0 =z

-
AN

5)

rgom2XN2+x—-4=0

6)=-

10



7)3ng 0w 42 +4 VI X +3 =0 52630055 Tononess, 30mean0

8)5ez00m 2XN 2 + X + 4 = 0 ,305:3005 sHhweoness, 50000

9)maznem 2XN2 —7x+ 3 =
Concept2

SAIADLY
2—5x+3=0,
SJALwRL

2)[NE TREOFARYIT LGesel 2XM 2 + X — 4 = 0 T0e800T sHRONYSL, 3o

3)=nF TpearneeRm Lgeshos 4xM2 +4 V3 x +x =0 Basesces DRONYS,, B

) 0

o003 2XN 2 — 7X + 3 = 0 T0eBTHOT sRRONTT,, BoTIEROWO

=~ AN
28000

4)T0F ZROFAREAIT Leshon 2XM 2 + X + 4 = 0 308000 SRonds, 50N

5)SNF TReFNRTENE LGRIR0E 2xM2-5x+3=0 FWeTTT AN, FoTaRO20

B)=NF TREFNRIINT LGEOSOCT 5xN2-6X-2 = 0 FL0EFTLIT TRONTEL, 50TER%R0

7)SNE ZREFNRYEIT LGom0T4XxN2+3x+5 = 0 e80T RONIT,

&8RN0 TyE0, TS
Concept1

2 marks

1) 5729802 sin 60 cos 30 +sin 30 cos 60

2) 379,e30a 2 tan* 45 +cos* 30 - sin® 60
3)=72¢,:30% 5 cos? 60+ 4 cos? 30- tan® 45/ sin® 30 +cos® 30
3 marks questions

1)=950%. cos 45/( sec 30+cosec 30)

11



2)=79:e30% (sin 30 + tan 45 -cosec 45)/(sec30+ cos 60 + cot45)
Concept2

2 marks

1) tan 48° tan 23° tan 42° tan 67° = 1 <0t S»e03,

2) cos 38° cos 52° — sin 38° sin 52° = 00t 35elA,

3) =9;e30% sin® 63+ sin® 27/ cos* 17+ cos* 73

Concept3

2 marks

1)tan 2A = cot (A — 18°), 332, 2A ©F? FReTTNT. A WS 50E&R00,
2)tan A=cot B, A+ B =90°. 2ot Seedd

3) sec 4A = cosec (A — 20°), =22.4A O30 BRezmeNT, A W3S F0rEER0,
4) (cosech —cotd )*2=(1-cos0)/ (1+cos0 )w0om R

5)(1+ sec A)/ sec* A = sin*2A/(1 — cos A)woTd AR

3 marks

1)tan(A+B) = root 3 =222, tan(A-B) =1/root 3 na. w9, 0<A+B<90, ; A>B,
=00 A BB, B 305088000.

2) A, B =25, Cigo AABC 03 wedneeanentd, sin( B+ C)/ 2 = cosA/ 2 <ot

300X

3) 1 + sinA/1 — sinA =secA +tanA«ct TR
4)cos A/(1+sinA)+(1+sinA)/ cos A =2 secA 0T QA
5) (sinA-2sin*3A)/(2cos*3A-cosA)=tanAxoTe Q%

6) (sin A + cosec A)*2 + (cos A + sec A)*2 =7 + tan*2 A + cot’2 Axcto R4

7) (cosec A — sin A)(sec A — cos A)=1/(tan A + cot A )00 QA

8) sec x=2 then find cot x + cosec x> T

12



9) sec A(1-sinA)(secA+tanA) =100 mQA

ROT0sTOR,,

1)39NT TZ2,03NMY0T FTFO FoWo 2RCW0O

NENY Zos3; 0-2 2-4 4-6 6-8 8-10 10-12 12-14

TINY Toss, 1 2 1 5 6 2 3

2)§%§ﬁ5 T020,03NY0T TT2XO Fowy &LROWO

T2 QT 65-68  68-71 71-74 74-77 77-80 80-83  83-86

88033 Bosds 2 4 3 8 7 4 2

3)é°’ﬁ§ T22,03NYOT FTYFHO FoTWo &&ROWD

TTVNT TENL,NY T3, 50-52 53-55 56-58  59-61 62 - 64
e NNY osd, 15 110 135 115 25

4)5%3515 T22,03NYOT BT2A0 Fow WO

OF Q3T =23, 100 - 150 150-200 200-250 250 - 300 300 - 350
BOLIVOWNY F0&T;4 4 5 12 2 2
5)§%§ﬁ5 T22,03NY0T FT2R0 FOw L0W

SO2 S 7202 0.00-0.04 0.04-0.080.08-0.12 0.12-0.16 0.16-0.20 0.20 0.24 2
(in ppm)

SOV 4 9 9 2 4 2
6)&%% 0022,03N%Y0T TR0 FoWo &ROWD

OINg Zo3; 0-6 6-10 10 - 14 14 - 20 20-28  28-38 38-40

QTIHEFNY T3y 11 10 7 4 4 3 1

7)§€§ﬁ§ T22,03NY0T BTOFO FOR &&OW0O

13



ARETTD Tyzo0ed  45-55 55 - 65 65-75 75 -85 85-95
INONY [0, 3 10 11 8 3
8)3INT T2, 03NVOG WTIDF 953300 SRS oo G0N0
gorown g 1-3 3-5 5-7 7-9 9-11
Borowns Foxd; 7 8 2 2 1
9)%%5 T322,03NY0G WIRILT 9530 CRPUS Foky ER0100

To0NY TosBy; 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

ij)\%_o 7 14 13 12 20 11 15 8

10@%5 T322,03NY0G WIRIDT 953w SRRPUS FoRy &R010
T, (inmm) 118 - 126 127 - 135 136 - 144 145-153 154 -162 163-171 172 -180

12 5 4 2

oENY Zoa3; 3 5
11) FONT T22,03NLOT WIIDT Wi ORGFWES 3030 &N

WeeE (Moeinvd..,) WOLNY Toa3,
1500 - 2000 14
2000 - 2500 56
2500 - 3000 60
3000 - 3500 86
3500 - 4000 74
4000 - 4500 62
4500 - 5000 48

12)§°§ﬂ5 T322,03NY0G WIRIVT 95w SRS 5oy &R000
2NRT (ﬁ@@m) 40 -45 45-50 50-55 55-60 60-65 65-70 70-75

NTO;HFNY Foad; 2 3 8 6 6 3 2

14



1)20T0 NTE 40 LSNY YVTATT, F0eTTH 0dinetdd,, F00IRMITCE B¥8 BHRT 2, TR

T22,03NTTY, FENT FoeR, 8., TEIQRAT. 13059508 FoTed 2RO

o

QT (in mm) LENY o8,
118 - 126 3
127 - 135 5
136 - 144 9
145 - 153 12
154 - 162 5
163 - 171 4
172 - 180 2
1)39NT T22,03NL0T WRT® TR
EI0BNLD

0-10

10-20

20 - 30

30-40

40 - 50

50 - 60

60-70

70 -80

80-90

90-100

2N TER0TE0R LU Tk

&9
g
©

NONP,POWWPAWOI Y

=
ey
2
(@]
&

(&)

oo

ClI 0-3 3-6 6-9 9-12 12-15
F 9 3 5 3 1

3)5‘%5 T022,03N90T Wedw® T3

TNOFOSTNTD 5-10  10-15 15-20 20-25 25-30 30-35 35-40

SonanRY B0, 2 12 2 4 3 4 3
SN TTL08ME0T Lt Ty
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TyB008 8Tacdh (Sr nvd..,)

p—p—

FOIMTT Do,

(, BINT T322,081203 tem® Tsk

40 3,02 3Rz
42 3,02 3R
44 3,02 3QH
46 3,08 3aH

48 3,02 305

508,08 305

52 %5'33 FRT

6)§%§ﬂ5 T22,03NY0T

VT, TDD 20
(in kg/ha)

- n - = 2
BRONY F033;

100-120 120-140 140-160 160-180
12 14 8 6 10
QT QPN Fos3;
0
3
5
9
14
28
32
35
R T
50 - 55 55 -60 60 - 65 65-70 70-75
2 8 12 24 38

7)00T0 TTEeTT 933000 09700 30 SoNQN NYAT Tehfs Tyt

QITTBORT, B3 BN e,

5 5w 5 3,08 ©QF

10 @30 10 3,08 ©QT
15 ©5m0 15 3508 ©OT
20 =50 20 3,08 ©0T
25 @5 25 3,08 @QT
30 =30 30 308 ©Q3

35 @@me 35 3,08 @03

16

14

10

180 - 200

75-80

16
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8)2.0T0 Moot D003 144 WS I NTD,., 20 T M0 BecRTROZTNGD T3, W0ITHY)

YO, T009NT, IO T, YV, T0TNT LT 00eDRT,S, =T33

BACRTROTTIONGLS D0DFIRAO..,, CoNROBTI0 0350, 23,3579 Wots B, T, IRmsR0Ts 3N

QETIT, . BT TR, D0LENTIT

- D <
TOLTRORNTCI0 WTe,?

3 HONYS ©FTe 3 WU,NE0 WoTls, BT, RO, N0LOTLT BRELIT, S
TRFT BRTD,, BRI HOLITICORNIONTY, SF4L39T =0&

10)2.0T30 TRYRT, 2 B LACDURNT, WOERR AL 5 306 WONTIE Fog3meoRnT0oI0 RD
11))00T30 TRYTT, 2 T QIORCINT, FAR,; Lo TO 5 0ed LT FOITAOITOI0 wFd,?
&BRETNS0D FOF) LT3N

1).%WHATFA TFGRUTT?, &eT F,0300T &N A 808, 583,00 2050¢ W3, T TN,3

e TB2,E,T0,5. SOTR0ON BN, T SaR deessy 30 =TT,

2)MPTEITROT FOT 20eD0T 6051¢ 3, 0TY,., TTIWIE,T, ATWT, T3, 0T
TTO0RT0,, T9T93 DTN ST DT WOTI WoTINTD S NRE3S, B3T3, TToTwy)
SOTROAN 60 0 BRETTTI YVOLINTRET,. To0y) BROTIND,TI0T L&k, TTOTT
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